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(Common to PTCE 2351 — Structural Analysis — II for B.E. (Part-Time)
Fourth Semester — Civil Enginecring — Regulation 2009)

Time : Three hours Maximum : 100 marks

Answer ALL questions.

PART A — (10 x 2 = 20 marks)-

1.  What are equilibrium equations?

2. Explain Indeterminacy of structures.

3. Write a note oﬁ global stiffness matrix,

4. What is Rotation matrix?

Mention the applications of heam element,

6.  Define plane stress,

7. Explain pure bending.

State plastic moment of resistance.
9. Differentiate curved heams and beamsg curyed in plan |
10, Givet

he applications of three hinged st fening girders
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Of.45 kN at the middle of the span. Find the deflection’ at the free" end
" usmg ﬂex1b111ty matrlx method EI is umform throughout L

i "A portal frame ABCD w1th supports A and D are flxed at same level"
. carries a un1formly d1str1buted load of 4 tons/meter oni’ the span- BC‘
- Span AB = span BC = span CD = 6 meters. EI is constant throughout -
Analyse the frame by stlffness rnatrlx method ol

" A'two span contmuous beam ABC is flxed at A and simply supported over: -

: the beam by stlffness matrix method e St

, tr1angle L : : . : T epeni it il

N smallest value of M such that collapse Would flrst occur when the load e

,1s in its most unfavourable p051t1on

Aca t]lever of length 20 meters 1s s‘ubJected to a s‘ingle c0ncentr"wted~ oa

OI'-' "r

‘the supports B and C. AB =8 m and BC = 6 m: ‘Moment. of inertia is
‘constant through out. A un1formly distributed load of 4 Ton/m acts over
AB and a single concentrated central load of 8 rI‘ons acts on BC. Analyse '

Explain the followmg (1) Constant straln trlangle (11) Llnear stram-
Explam the types and apphcatmns of Truss elements 1n f1n1te element %
method ‘ o '

A umform beam of span 5 m and fully plastlc moment M 1s s1mply 2

‘supported at one end and rigidly clamped at other end A concentrated )
load of 20 kN may be applied anywhere within', the span Find the -

Explain the . followmg ' Y s
6] Plast1c modulus
(i) Shape factor

(111) Load factor ‘
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